MATHS

BOOKS - VGS PUBLICATION-BRILLIANT

SQUARE ROOT AND CUBE ROOTS

1. Find the perfect squares between 100 and

150

[ o Watch Video Solution


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_2ZW8FeMO18rk

2. Find the perfect squares between: 150 and

200

° Watch Video Solution

3.Is 56 a perfect square?Give reasons.

O Watch Video Solution



https://dl.doubtnut.com/l/_2ZW8FeMO18rk
https://dl.doubtnut.com/l/_6AZAcmik6j5m
https://dl.doubtnut.com/l/_Dz3CzdIRTCbP

4. Guess and give reason which of the
following numbers are perfect squares.verify

from the above table:84.

o Watch Video Solution

5. Guess and give reason which of the
following numbers are perfect squares.verify

from the above table:108.

o Watch Video Solution



https://dl.doubtnut.com/l/_dYg0GZi1tFa6
https://dl.doubtnut.com/l/_aYSxo9JvUvJP
https://dl.doubtnut.com/l/_rQhEmCDkkuK4

6. Guess and give reason which of the
following numbers are perfect squares.verify

from the above table: 271.

o Watch Video Solution

7. Guess and give reason which of the
following numbers are perfect squares.verify

from the above table:529.

o Watch Video Solution



https://dl.doubtnut.com/l/_rQhEmCDkkuK4
https://dl.doubtnut.com/l/_psc4CCG8E1U5
https://dl.doubtnut.com/l/_QGmv6tTGIVPw

8. Guess and give reason which of the
following numbers are perfect squares.verify

from the above table:529.

o Watch Video Solution

9. Which of the following have one in its units

place : 126°.

° Watch Video Solution



https://dl.doubtnut.com/l/_QGmv6tTGIVPw
https://dl.doubtnut.com/l/_HhIqBhDUUgS7

10. Which of the following have one in its units

place : 179°.

o Watch Video Solution

11. Which of the following have one in its units

place : 281°.

o Watch Video Solution



https://dl.doubtnut.com/l/_IMM0u2HtK45B
https://dl.doubtnut.com/l/_NgC5jvAoivW5

12. Which of the following have one in its units

place : 363°.

° Watch Video Solution

13. Vaishnavi claims that the square of even
numbers are even and square of odd are odd.

Do you agree with her? Justify.

° Watch Video Solution



https://dl.doubtnut.com/l/_brMGEdrIXuc4
https://dl.doubtnut.com/l/_xxUhvqH9lLVy

14. Guess, how many digits are there in the

squares of 72.

o Watch Video Solution

15. Guess, how many digits are there in the

square of 103

o Watch Video Solution



https://dl.doubtnut.com/l/_t3MM1wM28nZM
https://dl.doubtnut.com/l/_jn5xbGNq7atv

16. Guess, how many digits are there in the

square of 1000

o Watch Video Solution

17. How many perfect cubes are there between

500 and 10007

o Watch Video Solution



https://dl.doubtnut.com/l/_Bkz3SpK40yUq
https://dl.doubtnut.com/l/_72tBCcHT4Ljq

18. Sangeetha said that each time you add two
integers, the value of the sum is greater than
the numbers. Is sangeetha right? Give reasons

for your answer.

° Watch Video Solution

19. What will be the units digit of the square of

the following numbers :297.

o Watch Video Solution



https://dl.doubtnut.com/l/_ihp4i150grZ5
https://dl.doubtnut.com/l/_ZQb9cX4x2pT2
https://dl.doubtnut.com/l/_jn2q8CYvHPTU

20. What will be the units digit of the square

of the following numbers :39.

° Watch Video Solution

21. What will be the units digit of the square of

the following numbers :297.

o Watch Video Solution



https://dl.doubtnut.com/l/_jn2q8CYvHPTU
https://dl.doubtnut.com/l/_wY0rbgVIG76x

22. What will be the units digit of the square

of the following numbers : 5125.

° Watch Video Solution

23. What will be the units digit of the square

of the following numbers :7286.

o Watch Video Solution



https://dl.doubtnut.com/l/_FCiWSycP8oL2
https://dl.doubtnut.com/l/_1ZJRZBA1KYB5

24. What will be the units digit of the square

of the following numbers :8742.

o Watch Video Solution

25. Write all the factors of the following

numbers 115

o Watch Video Solution



https://dl.doubtnut.com/l/_rDAfreyz62C9
https://dl.doubtnut.com/l/_4WTsGIKnv2qZ

26. Write all the factors of the following

numbers 115

o Watch Video Solution

27. Which of the following numbers : 256.

o Watch Video Solution

28. Write all the factors of the following

numbers 115



https://dl.doubtnut.com/l/_GhE57cO6UZNo
https://dl.doubtnut.com/l/_2YtRYyexMiVe
https://dl.doubtnut.com/l/_oGj9PrhO7H3u

o Watch Video Solution

29. Which of the following numbers :600

o Watch Video Solution

30. Which of the perfect cubes? 512

o Watch Video Solution

31. Which of the perfect cubes? 400



https://dl.doubtnut.com/l/_oGj9PrhO7H3u
https://dl.doubtnut.com/l/_nN19RvbxToog
https://dl.doubtnut.com/l/_0jDMtFG8FcIQ
https://dl.doubtnut.com/l/_ZU1Tn8ZZodUi

o Watch Video Solution

32. Which of the perfect cubes? 500

o Watch Video Solution

33. Which of the perfect cubes? 512

o Watch Video Solution

34. Which of the perfect cubes? 729



https://dl.doubtnut.com/l/_ZU1Tn8ZZodUi
https://dl.doubtnut.com/l/_hzbDPd4v8b9T
https://dl.doubtnut.com/l/_DXYd9ucpMPR9
https://dl.doubtnut.com/l/_aPtfZQVBIZNy

o Watch Video Solution

35. What is a smallest number by which 2560
is to be multiplied so that the product is a

perfect cube?

o Watch Video Solution

36. What is a smallest number by which 1600
is to be divided so that the quotient is a

perfect cube?

| & I


https://dl.doubtnut.com/l/_aPtfZQVBIZNy
https://dl.doubtnut.com/l/_8PPT23YegqeO
https://dl.doubtnut.com/l/_aWRn0YVRJgsI

| ¥ Watch Video Solution

37.Find the cube roots of 8.

o Watch Video Solution

38. Find the cube of the number 16.

o Watch Video Solution

39. Find the cube of the number 21.

| &


https://dl.doubtnut.com/l/_aWRn0YVRJgsI
https://dl.doubtnut.com/l/_do5BpLWLzKrh
https://dl.doubtnut.com/l/_QnFIw1G4kFRB
https://dl.doubtnut.com/l/_eouIwdXLvOZ5

| ¥ Watch Video Solution |

40. Find the cube of the number 30.

o Watch Video Solution

41. Test whether the given number is perfect

cube or not: 243

o Watch Video Solution



https://dl.doubtnut.com/l/_eouIwdXLvOZ5
https://dl.doubtnut.com/l/_MFcMcrjvxYIr
https://dl.doubtnut.com/l/_MGOK6RAoyNCw

42. Test whether the given number is perfect

cube or not: 516

o Watch Video Solution

43. Test whether the given number is perfect

cube or not: 243

o Watch Video Solution



https://dl.doubtnut.com/l/_5Pl5LWxaE5Hw
https://dl.doubtnut.com/l/_XUE35G2YNhS0

44. Test whether the given number is perfect

cube or not: 8000

o Watch Video Solution

45, Test whether the given number is perfect

cube or not: 2700

o Watch Video Solution



https://dl.doubtnut.com/l/_1RYvMb7twsAU
https://dl.doubtnut.com/l/_tIDiqBgnlyaW

46. Find the smallest number by which 8788

must be multiplied to obtain a perfect cube?

° Watch Video Solution

47. What smallest number should 7803 be
multiplied with so that the product becomes a

perfect cube?

° Watch Video Solution



https://dl.doubtnut.com/l/_7v28AAPY4RtR
https://dl.doubtnut.com/l/_1e1mPkFDIFtC

48. Find the smallest number by which 8640
must divided so that the quotient is a perfect

cube.

o Watch Video Solution

49, Ravi made a cuboid of plasticine of
dimensions 12 cm, 8 cm and 3 am. How many
minimum number of such cuboids will be

needed to form a cube?

° Watch Video Solution



https://dl.doubtnut.com/l/_hMFhraxdN405
https://dl.doubtnut.com/l/_0nPA0l2z9uWS

50. Find the smallest prime number dividing

the sum 3'1 + 513

o Watch Video Solution

51. Find the cube root of 40967

o Watch Video Solution



https://dl.doubtnut.com/l/_0nPA0l2z9uWS
https://dl.doubtnut.com/l/_6Uehz8asMffi
https://dl.doubtnut.com/l/_6xtX9nL04SyK

52.Find the cube root of the number by prime

factorization method: 343

o Watch Video Solution

53.Find the cube root of the number by prime

factorization method: 729

o Watch Video Solution



https://dl.doubtnut.com/l/_Q3KmZ7tuAIZB
https://dl.doubtnut.com/l/_50hsSAY2qAjc

54.Find the cube root of the number by prime

factorization method: 1331

o Watch Video Solution

55.Find the cube root of the number by prime

factorization method: 2744

o Watch Video Solution



https://dl.doubtnut.com/l/_b3i3ff3tiPnN
https://dl.doubtnut.com/l/_fC1UBrH3ImEe

56.Find the cube root of the number through

estimation: 512

o Watch Video Solution

57. Find the cube root of the number through

estimation: 2197

o Watch Video Solution



https://dl.doubtnut.com/l/_Z7KqnJf6SEHS
https://dl.doubtnut.com/l/_93F5TsxYtEZe

58.Find the cube root of the number through

estimation: 3375

o Watch Video Solution

59.Find the cube root of the number through

estimation: 5832

o Watch Video Solution



https://dl.doubtnut.com/l/_Htxy7FE7YZ0q
https://dl.doubtnut.com/l/_rH9yr1JQqv8z

60. True or False: Cube of an even number is

an odd number.

o Watch Video Solution

61. True or False: A perfect cube may end with

two zeros.

o Watch Video Solution



https://dl.doubtnut.com/l/_LnwCdGPw80mh
https://dl.doubtnut.com/l/_jaawgkWDENr4

62. True or False: If a number ends with5, then

its cube ends with 5.

o Watch Video Solution

63. True or False: Cube of a number ending

with zero has three zeros at its right.

o Watch Video Solution



https://dl.doubtnut.com/l/_suCQqAThrXN8
https://dl.doubtnut.com/l/_3bvuiJbxDt3D

64. True or False: Cube of an even number is

an odd number.

o Watch Video Solution

65. True or False: Cube of an even number is

an odd number.

o Watch Video Solution



https://dl.doubtnut.com/l/_qHg8UIJgmvyK
https://dl.doubtnut.com/l/_b4jR6JVg5E0T

66. True or False: The cube of a two digit

number may be a three digit number.

° Watch Video Solution

67. Find the two digit number which is a

square number and also a cubic number.

o Watch Video Solution



https://dl.doubtnut.com/l/_HuZizFE4AARC
https://dl.doubtnut.com/l/_y7rlEuCQMHlT

68. If a, b and c are Pythagorian triplet, which

of the following statement is true ?

Aa’—b =c

B.a’ + b = ¢

C.b=c® — q?

D.a? > b + ¢

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_LZ2Aq407ywd0

1. The following numbers are not perfect

squires. Give reasons:257.

o Watch Video Solution

2. The following numbers are not perfect

squares. Give reasons: 4592.

° Watch Video Solution



https://dl.doubtnut.com/l/_tOV9N4l1TwBB
https://dl.doubtnut.com/l/_tuMZ3viKa9Bu
https://dl.doubtnut.com/l/_3kMvwx4JPUsG

3. The following numbers are not perfect

squares. Give reasons: 2433.

o Watch Video Solution

4. The following numbers are not perfect

squares. Give reasons: 5050.

o Watch Video Solution

5. The following numbers are not perfect

squires. Give reasons: 6098.


https://dl.doubtnut.com/l/_3kMvwx4JPUsG
https://dl.doubtnut.com/l/_SOfy1TmAa13n
https://dl.doubtnut.com/l/_u2KzkaMUepkE

° Watch Video Solution

6. Find whether the square of the following

numbers are even or odd :431.

o Watch Video Solution

7. Find whether the square of the following

numbers are even or odd : 2826.

° Watch Video Solution



https://dl.doubtnut.com/l/_u2KzkaMUepkE
https://dl.doubtnut.com/l/_brV1PURtW0Wu
https://dl.doubtnut.com/l/_mq2amHHiRqWZ
https://dl.doubtnut.com/l/_n0vwh8rgBC43

8. Find whether the square of the following

numbers are even or odd : 8204.

o Watch Video Solution

9. Find whether the square of the following

numbers are even or odd : 17779.

° Watch Video Solution



https://dl.doubtnut.com/l/_n0vwh8rgBC43
https://dl.doubtnut.com/l/_Ko5BBEhwWU4n

10. Find whether the square of the following

numbers are even or odd : 99998.

° Watch Video Solution

11. How many numbers lie between the square

of the following numbers:25 and 26.

o Watch Video Solution



https://dl.doubtnut.com/l/_TPptLiGk93ce
https://dl.doubtnut.com/l/_oyQZuOmpGT4E

12. How many numbers lie between the square

of the following numbers:56, 57.

° Watch Video Solution

13. How many numbers lie between the square

of the following numbers: 107:108.

o Watch Video Solution



https://dl.doubtnut.com/l/_aDfHW7PKCWud
https://dl.doubtnut.com/l/_3jszk9j6v9aV

14. Without adding, find the sum of the

following numbers : 1+3+5+7+9 .

° Watch Video Solution

15. Without adding, find the sum of the
following numbers

14+3+45+7+9+11+13+15+17+19+21+23+25

° Watch Video Solution



https://dl.doubtnut.com/l/_koKPD55VCovb
https://dl.doubtnut.com/l/_Yo2Raj7xzzbS

16. Without adding, find the sum of the
following numbers

14+3+5+7+9+11+13+15+17+19+21+23+25

o Watch Video Solution

17. Check whether the following numbers form

Pythagorean triplet : 2,3,4.

° Watch Video Solution



https://dl.doubtnut.com/l/_yhwOdyiEDaQU
https://dl.doubtnut.com/l/_FAG0mHdeL09L

18. Check whether the following numbers form

Pythagorean triplet : 6, 8, 10.

° Watch Video Solution

19. Check whether the following numbers form

Pythagorean triplet : 9, 10, 11.

o Watch Video Solution



https://dl.doubtnut.com/l/_zd7Vx343vGEk
https://dl.doubtnut.com/l/_LZijttXTwGC1

20. Check whether the following numbers form

Pythagorean triplet : 8,15, 17.

° Watch Video Solution

21. Check whether the following numbers form

Pythagorean triplet : 2,3,4.

o Watch Video Solution



https://dl.doubtnut.com/l/_2gX4hWY6z7Fz
https://dl.doubtnut.com/l/_qXstUmzkkUDb

22. By subtraction of successive odd numbers
find whether the following numbers are

perfect squares or not :55

o Watch Video Solution

23. By subtraction of successive odd numbers
find whether the following numbers are

perfect squares or not :90.

o Watch Video Solution



https://dl.doubtnut.com/l/_Uy6AezFA5VYC
https://dl.doubtnut.com/l/_AGTlZA2HV3Nc
https://dl.doubtnut.com/l/_6kBk2WxVkso5

24. By subtraction of successive odd numbers
find whether the following numbers are

perfect squares or not : 121.

o Watch Video Solution

25. Find the square root of 1296 by Prime

Factorization.

° Watch Video Solution



https://dl.doubtnut.com/l/_6kBk2WxVkso5
https://dl.doubtnut.com/l/_GB4lFhfV5UkC

26. Find the square root of 2025.

o Watch Video Solution

27. Find the smallest number by which 720

should be multiplied to get a perfect square.

° Watch Video Solution

28. Find the smallest number by which 6000

should be divided to get a perfect square and


https://dl.doubtnut.com/l/_xHkmMeLy8Z0U
https://dl.doubtnut.com/l/_ymDDIF1bHp9E
https://dl.doubtnut.com/l/_c8WjAyr9KHuV

also find the square root of the resulting

number.

° Watch Video Solution

29. Find the square root of the following

numbers by prime factorization method :441.

o Watch Video Solution

30. Find the square root of the following

numbers by prime factorization method: 784


https://dl.doubtnut.com/l/_c8WjAyr9KHuV
https://dl.doubtnut.com/l/_tIVq1NqltKE7
https://dl.doubtnut.com/l/_VCRIuw6aEWWu

° Watch Video Solution

31. Find the square root of the following
numbers by prime factorization method:

4096.

° Watch Video Solution

32. Find the square root of the following
numbers by prime factorization method

7056.

| |


https://dl.doubtnut.com/l/_VCRIuw6aEWWu
https://dl.doubtnut.com/l/_EvKni2snCqTR
https://dl.doubtnut.com/l/_Yv8TbSxF3FBU

& Wwatch Video Solution I

33. Find the smallest number by which 3645

must be multiplied to get a perfect square :

o Watch Video Solution

34.Find the smallest number by which 2400 is
to be multiplied to get a per-. fect square and

also find the square.

o Watch Video Solution



https://dl.doubtnut.com/l/_Yv8TbSxF3FBU
https://dl.doubtnut.com/l/_2HZ5MciUP2nC
https://dl.doubtnut.com/l/_cH1N1MDhjnkb

35. Find the smallest number by which 7776 is

to be divided to get a perfect square:

° Watch Video Solution

36. 1521 trees are planted in a garden in such a
way that there are as many trees in each row
as there are rows inthe garden. Find the
number of rows and number of trees in each

row.

° Watch Video Solution



https://dl.doubtnut.com/l/_XtVWgZ8yzNhB
https://dl.doubtnut.com/l/_O5OdbEdBl5zV

37. Aschool collected 2601 as fees from its
students. If fee paid by each student and
number of students in the school were equal,

how many students were there in the school?.

o Watch Video Solution

38. Aschool collected 2601 as fees from its
students. If fee paid by each student and
number of students in the school were equal,

how many students were there in the school?.


https://dl.doubtnut.com/l/_O5OdbEdBl5zV
https://dl.doubtnut.com/l/_PRfCKCEFRehQ
https://dl.doubtnut.com/l/_ZlvZk9mqFu7K

° Watch Video Solution

39. The product of two numbers is 1296. If one
number is 16 times the otherfind the two

numbers.

° Watch Video Solution

40. 7921 soldiers sat in an auditorium in such a

way that there are as inany soldiers in a row as


https://dl.doubtnut.com/l/_ZlvZk9mqFu7K
https://dl.doubtnut.com/l/_Z7ZFhj8b8aiV
https://dl.doubtnut.com/l/_p5a2HC783wUz

there are rows in the auditoriumhow many

rows are there in the Auditorium.

° Watch Video Solution

41. the area of the square field is 5184m2Find
the area of a rectangular field, whose
perimeter is equal to the perimeter of the

square field andwhose length is twice of its

breadth.

° Watch Video Solution



https://dl.doubtnut.com/l/_p5a2HC783wUz
https://dl.doubtnut.com/l/_7B89OzcfFzRE
https://dl.doubtnut.com/l/_WTfpCT06neJS

42. Observe the following divisions, give
reasons why 8 in the divisor 48 is considered

in the above example?

SETENC DETENC 4] 388 (7
) ED) wD)

18 32 28

24 64 104
g1 =9 64 =8 49 =7

o Watch Video Solution

43. Find the square root of 1296 by Prime

Factorization.

o Watch Video Solution



https://dl.doubtnut.com/l/_WTfpCT06neJS
https://dl.doubtnut.com/l/_ovhRJZ2bIfqW

44.Find the square root of 8281..

o Watch Video Solution

45, Find the least perfect square with four

digits.

° Watch Video Solution

46. Find the least number that is to be

subtracted from 4000 to make it perfect


https://dl.doubtnut.com/l/_CmkzBjn9sXWn
https://dl.doubtnut.com/l/_VOa9ZOZq64Yj
https://dl.doubtnut.com/l/_cfejl8D2zPJs

square

o Watch Video Solution

47.Find the square root of 42.25 using division

method.

° Watch Video Solution

48.Find 1/96.04

° Watch Video Solution



https://dl.doubtnut.com/l/_cfejl8D2zPJs
https://dl.doubtnut.com/l/_N6cXXidxk0sm
https://dl.doubtnut.com/l/_OXDu9bPYqrA5

49. Find the square root of the following.

numbers by division method:1089

° Watch Video Solution

50. Find the square root of the following.

numbers by division method:2304.

o Watch Video Solution



https://dl.doubtnut.com/l/_z9dEGIjxLdd9
https://dl.doubtnut.com/l/_3ifafjiXF3OA

51. Find the square root of the following.

numbers by division method:7744.

° Watch Video Solution

52. Find the square root of the following.

numbers by division method: 6084.

o Watch Video Solution



https://dl.doubtnut.com/l/_z8RHJjwrkD2R
https://dl.doubtnut.com/l/_zw0bD2TnJA6Y

53. Find the square root of the following.

numbers by division method: 9025.

o Watch Video Solution

54. Find the square root of the following

decimal numbers :2.56.

o Watch Video Solution



https://dl.doubtnut.com/l/_g51FLTgbcRFH
https://dl.doubtnut.com/l/_X4BdECboFgaB

55. Find the square root of the following

decimal numbers :18.49

o Watch Video Solution

56. Find the square root of the following

decimal numbers : 68.89.

o Watch Video Solution



https://dl.doubtnut.com/l/_zVxRqtiR1PNr
https://dl.doubtnut.com/l/_xxbXIoPIhEL7

57. Find the square root of the following

decimal numbers :84.64.

o Watch Video Solution

58. Find the least number that is to be
subtracted from 4000 to make it perfect

square

o Watch Video Solution



https://dl.doubtnut.com/l/_quLBBCZqnbCh
https://dl.doubtnut.com/l/_taSRAPbuFhA9

59. Find the length of the side of a square

whose area is 4489 sq.cm.

° Watch Video Solution

60. A gardener wishes to plant 8289 plants in
the form of a square and found that there
wwere 8 plants left. How many plants were

planted in each row?

o Watch Video Solution



https://dl.doubtnut.com/l/_L0vAibNwBOCW
https://dl.doubtnut.com/l/_Mv6tDUTpcpc4
https://dl.doubtnut.com/l/_mJg03R2b0L1q

61. Find the least perfect square with four

digits.

o Watch Video Solution

62. Find the least number which must be

added to 6412 to make it a perfect square.

o Watch Video Solution



https://dl.doubtnut.com/l/_mJg03R2b0L1q
https://dl.doubtnut.com/l/_2DMt52p57PDz

63. Estimate the value of the numbers to the

nearest whole number: /97

o Watch Video Solution

64. Estimate the value of the numbers to the

nearest whole number: /250

o Watch Video Solution



https://dl.doubtnut.com/l/_KmSMx7lNzHx4
https://dl.doubtnut.com/l/_wiMTgBEUCDkf

65. Estimate the value of the numbers to the

nearest whole number: /780

° Watch Video Solution

66. Is 81 a perfect cube?

° Watch Video Solution

67.1s 125 a perfect cube?

° Watch Video Solution



https://dl.doubtnut.com/l/_kweWsj8XyhF3
https://dl.doubtnut.com/l/_ZHWYr7iHJFmU
https://dl.doubtnut.com/l/_zoL9gsSbALKO

68. How many perfect cube numbers are
present between 1 and 100, 1 and 500, 1 and

10007

o Watch Video Solution

69. How many perfect cubes are there between

500 and 10007

o Watch Video Solution



https://dl.doubtnut.com/l/_zoL9gsSbALKO
https://dl.doubtnut.com/l/_VrjaO9JXmAif
https://dl.doubtnut.com/l/_rNHJS7HBqQfx
https://dl.doubtnut.com/l/_D93sOkSFA2gl

70. Find the digit in units place of each of the

numbers: 753

o Watch Video Solution

71. Find the digit in units place of each of the

numbers: 1233

o Watch Video Solution



https://dl.doubtnut.com/l/_D93sOkSFA2gl
https://dl.doubtnut.com/l/_5f6G1r5b3azH

72. Find the digit in units place of each of the

numbers: 1573

o Watch Video Solution

73. Find the digit in units place of each of the

numbers: 198>

o Watch Video Solution



https://dl.doubtnut.com/l/_5zavDNBqTlJQ
https://dl.doubtnut.com/l/_BXlMGjbwvOqt

74. Find the digit in units place of each of the

numbers: 1233

o Watch Video Solution

75. Which of the following is Pythagorean

Triplet ?

A. (1,2,2)

B. (4,5,6)

C. (3,4,5)


https://dl.doubtnut.com/l/_sGofN3wRXyOo
https://dl.doubtnut.com/l/_g0MgKUrMjRw7

D. (5,6, 7)

Answer:

o Watch Video Solution

76. Which of the following number is doesn't

lie in the units place of a square number?

Al

B.4

C.3


https://dl.doubtnut.com/l/_g0MgKUrMjRw7
https://dl.doubtnut.com/l/_vethw3bjpE1x

D.5

Answer:

o Watch Video Solution

77. Which of the following is not a per fect

square number?

A. 121

B. 625

C. 1024


https://dl.doubtnut.com/l/_vethw3bjpE1x
https://dl.doubtnut.com/l/_HZ0WbBKx1cbS

D. 367

Answer:

o Watch Video Solution

78. /625 + /441

A.47
B. /1066
C.46

D. 45


https://dl.doubtnut.com/l/_HZ0WbBKx1cbS
https://dl.doubtnut.com/l/_UTVdiExM16pT

Answer:

o Watch Video Solution

79. The units digit of (1234562)°

A.6
B.3
C.8

D. 4

Answer:


https://dl.doubtnut.com/l/_UTVdiExM16pT
https://dl.doubtnut.com/l/_CGu0LWgXh9BS

° Watch Video Solution

80. 508 357°Q) Hadd0H0cd. 1117 = 12321

A. 12341
B. 12321
C. 12312

D. 12221

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_CGu0LWgXh9BS
https://dl.doubtnut.com/l/_t4NLVxcfrcuC

81.1+3+5+ 7 + 9=

A. 9

B. 7°

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_t4NLVxcfrcuC
https://dl.doubtnut.com/l/_8SIM2ox97euu

82. find the square root (10201)

A. 1001

B. 101

C. 111

D. 121

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_a1qFUPMYghKb

83. No. of integers lie between 4? and 5

A.8
B.10
C.9

D. 11

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Vpm5adCjK9aK

84.5.67891 is a..... number.

A. prime

B. odd

C. even

D. none

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_OdB8k4ba2tmn

85. Which of the following is a perfect cube

number ? .

A. 25

B. 64

C. 81

D. 100

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_6RXPsIcXwenO
https://dl.doubtnut.com/l/_zeAvadyYtxmG

86. No. of non-perfect square numbers
between n"2 and (n + 1)* are
A
2
B.2n
C.n?

D.n

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_zeAvadyYtxmG

87. If there are no common factors other

than'l' among a, b, c then the triplet is called

a____
A. Primitive
B. Secondary
C.Triplet
D. None
Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_uPLpchqzFDVk

88.13% = +12?

A. 10
B. 2
C. 5>

D.10

Answer:

O Watch Video Solution



https://dl.doubtnut.com/l/_kXHbM5LaS0LD

89. Sqrt(225)

A. 12
B. 16
C.15

D. 13

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_m4SyXWmltgOK

90.,/2025 = .........

A. 35
B.45
C.54

D. 15

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_EbXKgxD3yZIG

91. Find the smallest number by which 3645

must be multiplied to get a perfect square :

A.19

B.16

C.10

D. 15

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_TAzo8e3VAL3w
https://dl.doubtnut.com/l/_QCgELlYKp5AS

92. Find the smallest nhumber by which 720

should be multiplied to get a perfect square.

A. 13

B.9

C.5

D.10

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_QCgELlYKp5AS

93. should be subtracted from 4215 to

become a perfect square number.

A. 119

B. 120

C. 10

D. 1

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_kccpqwsxakMm
https://dl.doubtnut.com/l/_jZxnkv3TJjbJ

94. Find the square root of 4225 using

division method.

A7

B.6.5

C.8.5

D.5.5

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_jZxnkv3TJjbJ

95. The nearest value of /300 =

A.19
B. 31
C.17

D. 16

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_eYxkTevQTKqy

96. The side of a square is 19 units then its

areais  sq.units,

A. 312

B. 191

C.163

D. 361

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_baIthdjND4cT
https://dl.doubtnut.com/l/_NQJfkGj0NhMe

97. The area of a square is 1024 sq.units, then

its side is units.

A. .32

B. 22

C.62

D. 92

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_NQJfkGj0NhMe

98. The cube of 11 is

A. 1131

B. 1331

C. 1231

D. 1431

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_KK41yqGLLWIc

99. The perfect square and cube number of a

two digited number is _

A. 32

B. 91

C.16

D. 64

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Em65QVs6Yh60
https://dl.doubtnut.com/l/_S7IpihmDtPBl

100.Sumof20terms of 3+5+7 +9+ ...is

A 33

B. 3%

C.3°

D. 31V

Answer:

° Watch Video Solution

101. Find the approximate value of /999


https://dl.doubtnut.com/l/_S7IpihmDtPBl
https://dl.doubtnut.com/l/_QZr3rLpdcbTe

A. 27

B.13

C.18

D. 17

Answer:

° Watch Video Solution

102. The units digit of (1234562)°

A.10


https://dl.doubtnut.com/l/_QZr3rLpdcbTe
https://dl.doubtnut.com/l/_cVOl3PPWjSCM

B.3

C.9

D.4

Answer:

o Watch Video Solution

103. Find the smallest number by which 3645

must be multiplied to get a perfect square:

A. 15


https://dl.doubtnut.com/l/_cVOl3PPWjSCM
https://dl.doubtnut.com/l/_qt3U4SCbWmNU

B.40

C. 25

D. 35

Answer:

o Watch Video Solution

104. Find the approximate value of

/999

A. 13


https://dl.doubtnut.com/l/_qt3U4SCbWmNU
https://dl.doubtnut.com/l/_qKPiucbsvdGX

B. 21

C.16

D. 31

Answer:

o Watch Video Solution

105. /z=12impliesX’=

A. 1728

B. 1928


https://dl.doubtnut.com/l/_qKPiucbsvdGX
https://dl.doubtnut.com/l/_D9VZLSI5DcWE

C.1314

D. 1628

Answer:

° Watch Video Solution

106. The value of 1/97 is nearer to

A 14
B.13

C.Nn


https://dl.doubtnut.com/l/_D9VZLSI5DcWE
https://dl.doubtnut.com/l/_XYgKJxSr4cuu

D.10

Answer:

o Watch Video Solution

107.6°=

A. 161
B. 216
C.116

D. 117


https://dl.doubtnut.com/l/_XYgKJxSr4cuu
https://dl.doubtnut.com/l/_vkrzHiWZRGO8

Answer:

o Watch Video Solution

108. The side of a square is 72 cm then its

perimeteris_ cm.

A. 298

B.148

C. 288

D. 188


https://dl.doubtnut.com/l/_vkrzHiWZRGO8
https://dl.doubtnut.com/l/_nwqYINYPNXpA

Answer:

o Watch Video Solution

109. How many integers are in between the

squares of 25,26 .7

A. 50

B. 60

C.70

D. 100


https://dl.doubtnut.com/l/_nwqYINYPNXpA
https://dl.doubtnut.com/l/_nrlNcXgJdjmp

Answer:

o Watch Video Solution

110. The units digit in the square of 431is _

A3

B.7

C.0

D. 1

Answer:


https://dl.doubtnut.com/l/_nrlNcXgJdjmp
https://dl.doubtnut.com/l/_OwaGcWFsun2G

° Watch Video Solution

m. (24)°

A. 512
B. 156
C. 258

D. 256

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_OwaGcWFsun2G
https://dl.doubtnut.com/l/_X6wWWMJjDt5L

112.3°

A. 243
B. 81
C. 813

D. 432

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_X6wWWMJjDt5L
https://dl.doubtnut.com/l/_WY6LGM2ZACzk

113. Find the smallest number by which 8788

must be multiplied to obtain a perfect cube?

A7

B.4

C.2

D.3

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_uhAzpx1nAyV6
https://dl.doubtnut.com/l/_IakoResntt0z

4. /2744 =

A 14
B. 24
C.34

D. 16

Answer:

° Watch Video Solution

115. Sqrt(175.2976)


https://dl.doubtnut.com/l/_IakoResntt0z
https://dl.doubtnut.com/l/_tuXlWISSaDBp

A.36.15

B. 81.14

C.1.24

D.13.24

Answer:

° Watch Video Solution

6. (,/a)’=

A \/a


https://dl.doubtnut.com/l/_tuXlWISSaDBp
https://dl.doubtnut.com/l/_w8CYt1P295xX

Answer:

o Watch Video Solution

117. /1471369

A. 1213

B. 1321


https://dl.doubtnut.com/l/_w8CYt1P295xX
https://dl.doubtnut.com/l/_loxo9OxGuTPp

C. 1132

D. 1141

Answer:

° Watch Video Solution

118. The square root of 6084 =

A. 87

B.78

C. 88


https://dl.doubtnut.com/l/_loxo9OxGuTPp
https://dl.doubtnut.com/l/_7buSlHMUtkEO

D. 68

Answer:

o Watch Video Solution

B.1.5

C.1.8M

D.13


https://dl.doubtnut.com/l/_7buSlHMUtkEO
https://dl.doubtnut.com/l/_ypAv4qeAnQUl

Answer:

o Watch Video Solution

120. Sqrt169 + 1/25=....cccvrrn.

A.18
B.19
C.13

D. 12

Answer:


https://dl.doubtnut.com/l/_ypAv4qeAnQUl
https://dl.doubtnut.com/l/_7IE57nb7LzCV

° Watch Video Solution

121. \/ 176(y/2401)=__

A. 25
B.15
C. 31

D. 35

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_7IE57nb7LzCV
https://dl.doubtnut.com/l/_NLEtK8dJn0uk

122. In the expansion of 3! the units digit is

A.3
B.7
C.10

D. 16

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_NLEtK8dJn0uk
https://dl.doubtnut.com/l/_LAvzmg0gQozF

123. Car number of Jaya is 8289 then the

square root of that number is _

A. 32

B.70

C.83

D. None

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_uch5aOEtJPcs
https://dl.doubtnut.com/l/_dBKZ6IraTEj8

124.,/9025=...............

A. 95
B. 59
C. 69

D.73

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_dBKZ6IraTEj8

125. Without adding, find the sum of the

following numbers

1+3+5+7+9+11+13+15+17+19+21+23+25

A. 132

B. 168

C. 139

D. 169

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_0O1hpufBXQc8

126. How many cube numbers are there

between 1to 100 ?

A9

B.10

C.3

D. 13

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_XIO2XItwnasX
https://dl.doubtnut.com/l/_gTTlFK1RK3IW

127. Guess, how many digits are there in the

squares of 72.

A.4 or3

B.3or6

C.2or7

D. None

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_gTTlFK1RK3IW

128. Sqrt(121)=..........

A 11
B. 16
C. 31

D. 12

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_XLNr4sTWiu1U

129.3°+ 4> = K% K=

A.10
B.13
C.5

D. 25

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_dbf0i2k6IvV4

130. How many Integers are there between 9?
and 10?

A.16

B.13

C.28

D.18

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_H8TczwNo614r
https://dl.doubtnut.com/l/_uQV1HdrQOcQt

131. ,/55is

A. not a square number
B. square number
C. cube number

D. value is 10

Answer:

° Watch Video Solution

132. ¥/64=


https://dl.doubtnut.com/l/_uQV1HdrQOcQt
https://dl.doubtnut.com/l/_CI6dCAGWwHRQ

A9

B.16

C.10

D. 4

Answer:

° Watch Video Solution

133. Sum of n odd number is _

A. n2


https://dl.doubtnut.com/l/_CI6dCAGWwHRQ
https://dl.doubtnut.com/l/_9MERY8FytbcX

B. 2n

D. n-1

Answer:

o Watch Video Solution

134. Identify Pythagorean Triplet.

A1,2,7

B.8,9,6


https://dl.doubtnut.com/l/_9MERY8FytbcX
https://dl.doubtnut.com/l/_KHtYpooivBOz

C.3,4,6

D.6,8,10

Answer:

° Watch Video Solution

135.8% + K? - 17* then K= __

A. 15
B.16

C.19


https://dl.doubtnut.com/l/_KHtYpooivBOz
https://dl.doubtnut.com/l/_zKkkfFYp8F25

D. 20

Answer:

o Watch Video Solution

136.4/4" + 5%=

A. 4
B.5
C.4% x 52

D.4 x5


https://dl.doubtnut.com/l/_zKkkfFYp8F25
https://dl.doubtnut.com/l/_ZA0CKONRRk2M

Answer:

o Watch Video Solution

Answer:


https://dl.doubtnut.com/l/_ZA0CKONRRk2M
https://dl.doubtnut.com/l/_Qc5Z9VjLvmRY

° Watch Video Solution

B.1

C.6

D. 4

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Qc5Z9VjLvmRY
https://dl.doubtnut.com/l/_K0gpnms8YKTZ

139. ,/3388-...........
AT
B. V/7
C. /7
D.%/7

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_K0gpnms8YKTZ
https://dl.doubtnut.com/l/_ujtS1qa13GXs

140. /500 + /686=..ccrcrn

A.16
B.30
C.70

D. 80

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_ZAjN70SSNnPS

141. /0.4489=

A. 0.67
B. 6.7
C.85

D.7.7

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_QjPxg6g2RSyI

o
o4)

D. sqrt3/2

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_5fxWUSEKwf9n

143. 15°=

A.3375

B. 7375

C.1375

D. 1525

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_bqCMS5U70ODb

144. \/142884-............

A. 144
B. 278
C.178

D. 378

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_Mju7pGOR6xOt

145. /1156 = x then x=

A. 44
B. 34
C.84

D. 94

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_2KqnUjCEUp8W

146.1, 4,9, 16, 25 are numbers.

A. Square

B. Cube

C. Pure

D. None

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_JmsEWVbLWbdP

147.(21)%* =

A. 144
B. 441
C. 141

D. 191

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_SUnpryjDUA3v

148. (0.2)° = _

A.04
B. 0.004
C.045

D. 0.04

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_oH8WIxy146Jy

149. ( — 2)°=

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_0bqUKWxyVG1k

150. /64=

A. 416
B. 189
C. 343

D. 143

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_HAVHEE8akEFa

200
151. If /2 = 1.414 then the value of / —

49

A. 2.02
B. 20.2
C.30.2

D. 21.2

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_sl2qx9IlArra
https://dl.doubtnut.com/l/_ezP6Eh5WYWGd

152. 1f n3 = 2744 then the value of n® — 11 is

A. 145
B.175
C. 165

D. 185

Answer:

o Watch Video Solution

153. /500 + 1/686=...............


https://dl.doubtnut.com/l/_ezP6Eh5WYWGd
https://dl.doubtnut.com/l/_O1k3KCOFB1yW

A. 160

B.420

C. 129

D. 120

Answer:

° Watch Video Solution

eq  [O0L_
Vo081 —

Al
5


https://dl.doubtnut.com/l/_O1k3KCOFB1yW
https://dl.doubtnut.com/l/_ystzxnrOfsQQ

@

O~ N+

Answer:

o Watch Video Solution

155. 4 /2 4
° 2 ___

ol oo | o


https://dl.doubtnut.com/l/_ystzxnrOfsQQ
https://dl.doubtnut.com/l/_ts0ZJ4ibyJ0g

N
wW|— oo o

o

Answer:

° Watch Video Solution

156. ¢/217=

A7
B.8

C.9


https://dl.doubtnut.com/l/_ts0ZJ4ibyJ0g
https://dl.doubtnut.com/l/_VcyQZBoE142N

D. none

Answer:

o Watch Video Solution

157. Explain why each of the lists above is a G.P.

(i) 1, 4,16, 64, 256,........

A. 27

B. 25

C. 26


https://dl.doubtnut.com/l/_VcyQZBoE142N
https://dl.doubtnut.com/l/_dJOh6EjFC4q3

D.10

Answer:

o Watch Video Solution

158. Which of the following number is called

Ramanujans number ?

A. 1729

B.1728

C. 1818


https://dl.doubtnut.com/l/_dJOh6EjFC4q3
https://dl.doubtnut.com/l/_xz0V4AGZ0KyU

D. 1719

Answer:

o Watch Video Solution

159. ¢/0.001331=

A. (0.011)*
B. 011
C.(0.11)*

D. (0.11)*


https://dl.doubtnut.com/l/_xz0V4AGZ0KyU
https://dl.doubtnut.com/l/_Lwu92NqS6zkK

Answer:

o Watch Video Solution

160.13+ 2% =

A.10

C. 32

D. 92

Answer:


https://dl.doubtnut.com/l/_Lwu92NqS6zkK
https://dl.doubtnut.com/l/_daExIb53nxyL

° Watch Video Solution

161. {/0.720 — ¢/0.343=

A.0.5
B.0.2
C.0.7

D. 045

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_daExIb53nxyL
https://dl.doubtnut.com/l/_GVzX65YdAy0m

162. Identify perfect cube among the following:

A. 512

B.14

C.100

D. 96

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_GVzX65YdAy0m
https://dl.doubtnut.com/l/_owwWR8pmH4sc

163. i
2

@ >
w|l—= o= &= o]+

N

o

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_XYYwgtLgSuhW

64. If a+b+c=0, prove that

a® + b + & = 3abe

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_b4FmguRMTlud
https://dl.doubtnut.com/l/_WOQtHOQ26RtO

165.123+ 13 =

A. 1718
B.1719
C.1729

D. 1829

Answer:

° Watch Video Solution

166.1°+ 2% + 3 =


https://dl.doubtnut.com/l/_WOQtHOQ26RtO
https://dl.doubtnut.com/l/_AB3MKOIVQMtu

A. 52

B. 6°

D. 9°

Answer:

° Watch Video Solution

167. Cube root of 2545 is _

A.10


https://dl.doubtnut.com/l/_AB3MKOIVQMtu
https://dl.doubtnut.com/l/_PSOZIZUx1Wcq

B. 20

C. 25

D. None

Answer:

o Watch Video Solution

168. Kishore told "Every number isasquare
number": Krishna told "Everynumber is
purenumber".In the above two statements

who is correct ?


https://dl.doubtnut.com/l/_PSOZIZUx1Wcq
https://dl.doubtnut.com/l/_a7RJqgOOzyMF

A. Kishore

B. Krishna

C. Both are correct.

D. Both are false

Answer:

o Watch Video Solution

169. Identify polyndrome number in the

following numbers.


https://dl.doubtnut.com/l/_a7RJqgOOzyMF
https://dl.doubtnut.com/l/_yPWWQI9w3QMH

A. 15651

B. 16566

C. 15655

D. 165167

Answer:

° Watch Video Solution

170. If y=2° then

A. x=\3/37


https://dl.doubtnut.com/l/_yPWWQI9w3QMH
https://dl.doubtnut.com/l/_CCggsWn2RJ9Y

Answer:

o Watch Video Solution

171. {/9261=__

A 1

B. 41


https://dl.doubtnut.com/l/_CCggsWn2RJ9Y
https://dl.doubtnut.com/l/_IWqtekAcZViX

C. 21

D. 14

Answer:

° Watch Video Solution

172.1f 17 < ,/z<18,then x=

A. 100
B. 900

C. 300


https://dl.doubtnut.com/l/_IWqtekAcZViX
https://dl.doubtnut.com/l/_t1DeCNgIC12I

D. 20

Answer:

o Watch Video Solution

173. The number of surfaces of a cuboid is

A. Side

B. Cube

C. Complete cube

D. Cubola


https://dl.doubtnut.com/l/_t1DeCNgIC12I
https://dl.doubtnut.com/l/_36NQ7ueIyUo8

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_36NQ7ueIyUo8

